

☆ ☆ @ ★ □ ▲

section in the documentation

```
PyPI Install
```

You can get started with anomalib by just using pip.

```
pip install anomalib
```

NOTE: Due to ongoing fast pace of development, we encourage you to use editable install until we release v0.2.5.

Local Install

It is highly recommended to use virtual environment when installing anomalib. For instance, with anaconda, anomalib could be installed as,

```
yes | conda create -n anomalib_env python=3.8 conda activate anomalib_env git clone https://github.com/openvinotoolkit/anomalib.git cd anomalib pip install -e .
```

Training

By default python tools/train.py runs PADIM model on leather category from the MVTec AD (CC BY-NC-SA 4.0) dataset.

```
python tools/train.py # Train PADIM on MVTec AD leather
```

Training a model on a specific dataset and category requires further configuration. Each model has its own configuration file, configuration file, config.yaml, which contains data, model and training configurable parameters. To train a specific model on a specific dataset and category, the config file is to be provided:

```
python tools/train.py --model_config_path <path/to/model/config.yaml>
```

For example, to train PADIM you can use

```
python tools/train.py --model_config_path anomalib/models/padim/config.yaml
```

Alternatively, a model name could also be provided as an argument, where the scripts automatically finds the corresponding config file.

```
python tools/train.py --model padim
```

where the currently available models are:

- CFlow
- PatchCore
- PADIM
- STFPM
 DFM
- DEKDE
- GANomaly

Custom Dataset

It is also possible to train on a custom folder dataset. To do so, data section in config.yaml is to be modified as follows:

Inference

Anomalib contains several tools that can be used to perform inference with a trained model. The script in tools/Inference contains an example of how the inference tools can be used to generate a prediction for an input image.

If the specified weight path points to a PyTorch Lightning checkpoint file (<code>.ckpt</code>), inference will run in PyTorch. If the path points to an ONNX graph (<code>.onnx</code>) or OpenVINO IR (<code>.bin</code> or <code>.xml</code>), inference will run in OpenVINO.

The following command can be used to run inference from the command line:

```
python tools/inference.py \
--model_config_path cpath/to/model/config.yaml> \
--weight_path cpath/to/weight/file> \
--lmage_path cpath cpath cpath forence
```

As a quick example:

```
python tools/inference.py \
    --model_config.path anomalib/models/padim/config.yaml \
    --weight_path results/padim/mvtec/bottle/weights/model.ckpt \
```

```
--image_path datasets/MVTec/bottle/test/broken_large/000.png
```

If you want to run OpenVINO model, ensure that $\ openvino$ apply is set to $\ True$ in the respective model config. yaal .

```
optimization:
openvino:
apply: true
```

Example OpenVINO Inference:

```
python tools/inference.py \
    -model_config_path \
    anomallb/models/padim/config.yaml \
    -weight_path \
    results/padim/mvtec/bottle/compressed/compressed_model.xml \
    -image_path \
    datasets/NVTec/bottle/test/broken_large/000.png \
    -meta_data \
    results/padim/mvtec/bottle/compressed/meta_data.json
```

Ensure that you provide path to meta_data.json if you want the normalization to be applied correctly.

Datasets

anomalib supports MVTec AD (CC BY-NC-SA 4.0) and BeanTech (CC-BY-SA) for benchmarking and folder for custom dataset training/inference.

MVTec AD Dataset

MVTec AD dataset is one of the main benchmarks for anomaly detection, and is released under the Creative Commons Attribution-NonCommercial-ShareAlike 4.0 International License (CC BY-NC-SA 4.0).

Image-Level AUC

Model		Avg	Carpet	Grid	Leather	Tile	Wood	Bottle	Cable	Capsule
PatchCore	Wide ResNet- 50	0.980	0.984	0.959	1.000	1.000	0.989	1.000	0.990	0.982
PatchCore	ResNet-	0.973	0.970	0.947	1.000	0.997	0.997	1.000	0.986	0.965
CFlow	Wide ResNet- 50	0.962	0.986	0.962	1.0	0.999	0.993	1.0	0.893	0.945
PaDiM	Wide ResNet- 50	0.950	0.995	0.942	1.0	0.974	0.993	0.999	0.878	0.927
PaDiM	ResNet- 18	0.891	0.945	0.857	0.982	0.950	0.976	0.994	0.844	0.901
STFPM	Wide ResNet- 50	0.876	0.957	0.977	0.981	0.976	0.939	0.987	0.878	0.732
STFPM	ResNet- 18	0.893	0.954	0.982	0.989	0.949	0.961	0.979	0.838	0.759
DFM	Wide ResNet- 50	0.891	0.978	0.540	0.979	0.977	0.974	0.990	0.891	0.931
DFM	ResNet- 18	0.894	0.864	0.558	0.945	0.984	0.946	0.994	0.913	0.871
DFKDE	Wide ResNet- 50	0.774	0.708	0.422	0.905	0.959	0.903	0.936	0.746	0.853
DFKDE	ResNet-	0.762	0.646	0.577	0.669	0.965	0.863	0.951	0.751	0.698

Pixel-Level AUC

Model		Avg	Carpet	Grid	Leather	Tile	Wood	Bottle	Cable	Capsule
PatchCore	Wide ResNet- 50	0.980	0.988	0.968	0.991	0.961	0.934	0.984	0.988	0.988
PatchCore	ResNet- 18	0.976	0.986	0.955	0.990	0.943	0.933	0.981	0.984	0.986
CFlow	Wide ResNet- 50	0.971	0.986	0.968	0.993	0.968	0.924	0.981	0.955	0.988
PaDiM	Wide ResNet- 50	0.979	0.991	0.970	0.993	0.955	0.957	0.985	0.970	0.988
PaDiM	ResNet- 18	0.968	0.984	0.918	0.994	0.934	0.947	0.983	0.965	0.984
STFPM	Wide ResNet- 50	0.903	0.987	0.989	0.980	0.966	0.956	0.966	0.913	0.956
STFPM	ResNet-	0.951	0.986	0.988	0.991	0.946	0.949	0.971	0.898	0.962

Image F1 Score

Model		Avg	Carpet	Grid	Leather	Tile	Wood	Bottle	Cable	Capsule
PatchCore	Wide ResNet- 50	0.976	0.971	0.974	1.000	1.000	0.967	1.000	0.968	0.982
PatchCore	ResNet- 18	0.970	0.949	0.946	1.000	0.98	0.992	1.000	0.978	0.969
CFlow	Wide ResNet- 50	0.944	0.972	0.932	1.0	0.988	0.967	1.0	0.832	0.939
PaDiM	Wide ResNet- 50	0.951	0.989	0.930	1.0	0.960	0.983	0.992	0.856	0.982
PaDiM	ResNet- 18	0.916	0.930	0.893	0.984	0.934	0.952	0.976	0.858	0.960
STFPM	Wide ResNet- 50	0.926	0.973	0.973	0.974	0.965	0.929	0.976	0.853	0.920
STFPM	ResNet- 18	0.932	0.961	0.982	0.989	0.930	0.951	0.984	0.819	0.918
DFM	Wide ResNet- 50	0.918	0.960	0.844	0.990	0.970	0.959	0.976	0.848	0.944
DFM	ResNet- 18	0.919	0.895	0.844	0.926	0.971	0.948	0.977	0.874	0.935
DFKDE	Wide ResNet- 50	0.875	0.907	0.844	0.905	0.945	0.914	0.946	0.790	0.914
DFKDE	ResNet-	0.872	0.864	0.844	0.854	0.960	0.898	0.942	0.793	0.908
@misc{anoma title autho year=	lib, ={Anomalib: r={Samet Ak. Dick Ame: Ashwin V. Barath L. Nilesh Al Utku Gene {2022}, t={2202.0834	A Deep Locay and ln and aidya and akshmanan huja and c},	earning Li		Anomaly De	tection},				
eprin	vePrefix={an	-v4)								

© 2022 GitHub, Inc. Terms Privacy Security Status Docs Contact GitHub Pricing API Training Blog About